SM3FEEZFHFERE 5829 BB
=2

1 g = [ q ALPHA
2 /2 B &£ Y Z o4 ALPHA
3 R H = £y ALPHA
4 & B B F s ALPHA
5 E OB K X q ALPHA
6 ®F B M F| U ALPHA
7 T B B A 2 ALPHA
8 A& WMok = ALPHA
1566 |k % =3 5% ALPHA
1567 (@ # — 17 5% ALPHA
1568 |#& H & 5% ALPHA
1569 |{& % ] 5% ALPHA
9 F W & - 5 AMI1 CA
10 FREKRXKESE £ AMI CA
11 s B & # 5 AMI1 CA
12 wOoH OF T 2 AMI1 CA
13 ® 2 B # S AM I CA
14 oW B = S AMI1 CA
15 5 ' FE 2 AMI1 CA
16 & H & F £ AMI CA
17 8 A A F s AMI CA
18 | #2 X & F| U AMI CA
19 A x B % q AMI1 CA
20 B F =F= F q AMI1 CA
21 | B & &K U AMI1 CA
22 1A W x #| X AMI CA
23 W B 7 s AMI CA
24 | K & kR % U AMI CA
1357 (b A & X BB 5% Jr AMIC A
1406 (R B & £ 5 AMIC A
25 M A E A = B&A
26 i} L i 2 B&A
217 s B B3 X = B&A
28 w m B R = B&A
29 a IR % 5 B&A
30 % # 15 2 Blitz
31 TR 5 S S = Blitz




32 B R F # S Blitz
33 Lt & ® E B Blitz
34 |F B £ I £ Blitz
3 |[EA& H M £ Blitz
36 | F B = £ Blitz
37 E T 1E A S Blitz
38 | M F E E Eoy Blitz
39 | % OBk An ko8 Blitz
40 |IK & # = s Blitz
41 F B L 5 H u Blitz
42 Vit =3 2 L4 Blitz
43 E T ¥ # u Blitz
1313 | B ®E ¥ 58 Blitz
1458 (¢ H B % 2 Blitz
1459 (B )il & #& th 5 Blitz
1460 (& =E #H F 58 Blitz
1461 |T Bk %= # F 58 Blitz
1597 | R B F 58 Brio
1598 | & & < & 58 Brio
1551 |8 & #£ &2 5 CH2
1552 |8 W H # 2 CH?2
1553 |88 K BE M@ 2 CH?2
1554 | J® RE Bh 2 CH?2
1555 |/ = pl EX CH?2
1556 |’ H g2 2 CH?2
4 |IF KB F B £ CORE
45 & B R 0 £ CORE
46 F H E E B CORE
47 I8 F % B S CORE
48 Xk H B F L4 CORE
49 | & 1 = Eoy CORE
1465 |8 H# K # EX eNishi
1466 |& H @ 2 eNishi
1467 (&8 X B A ) eNishi
1468 |# L H 3R ) eNishi
1469 |2 % B v 2 eNishi
1470 |8 A K H# 5 eNishi
1471 |3 ¥ Rt B eNishi
1472 |+ B # t 2 eNishi




1473 |# i fzE B eNishi
1474 | B BF -— 2 eNishi
1475 B B # F 2 eNishi
1476 | XK # E EX eNishi
1477 1% U & KX 2 eNishi
1478 |x = 2 5 eNishi
1479 % K B 5 eNishi
1480 (& B # K 2 eNishi
1481 [ & T & g Jr eNishi
1482 & #®% EHE B =S Jr eNishi
1525 |1& H & #H EE eNishi
1526 |5k H# = K 2 eNishi
1527 |k g7 iz =S eNishi
1528 & K ®M = 2 eNishi
1529 |#k & & A 2 eNishi
1530 |ehb =} R ) eNishi
1531 s A & — 3 eNishi
1532 |12 % & -— ) eNishi
1574 | #E B #H 5 Jr eNishi
1575 [ #® B W B Jr eNishi
1576 | XK &H & =S Jr eNishi
50 T H § # K 2 EXTZ=ZX
51 * Lk ¥ IE EX EXT=X
52 B & F K S FDK
53 %% B & #t ES FDK
54 " m F & S FDK
55 £E F0 B 53] FDK
56  |fT A #E #E F £ FDK
57 H Fh & S FDK
58 H XK # = S FDK
1453 | % & #® 2 FDK
1610 |/ B ® L EX FDK
59 E B 1 X B FT)J
60 /AT = T 3 Eoy Jr FT)J
61 B % T % Eoy Jr FT)J
62 [ H W R ko8 Jr FT)J
63 |8 H = & U Jr FT)J
64 EH & &0 L4 Jr FT)J
65 zZ2 Nl %k B S Jr FT)J




66 Tk & B #& =S Jr FT)J
67 | B % R 2 Jr FT)J
68 [ H B | B Jr FT)J
69 |3 i Bl 3 Jr FT)J
1406 |12 2 B B/ 5 Jr FT)J
1407 | B B f| % Jr FT)J
1408 | % 1 $H| = Jr FT)J
70 |k B O#® Kl B GBK
71 | w8\ {Z| =8 GBK
7 = X - ®H B8 GBK
73 ? & & B =S GBK
4 | B 1B E| B GBK
5|/ M L IS GBK
% | E OE N B GBK
I w F O®E Ot B GBK
78 ST " S N =S GBK
79 iz 5 IR B GBK
80 | M E = GBK
81 (b B E # o4 GBK
82 |M # ' U GBK
83 |& & % F| « GBK
84 | H W F| U GBK
8% B B B % U GBK
86 |& #& # i 3 GBK
87 |=Z ® KX | 3 GBK
88 |k B B —| 9 G-TMS
89 |& B & 2| 92 G-TMS
|+ B F Al = G-TMS
91 |y M E | B G-TMS
92 | B B #| =B G-TMS
93 )\ v B X # 2 G-TMS
% | H F B B G-TMS
% |2 &5 B x| 3 G-TMS
% (N ®m M —| 9 G-TMS
97 |® B O3 G-TMS
1409 (B ® B & 5 G-TMS
1549 |8 B = f B Jr G-TMS
1550 |H KX & | B Jr G-TMS
1608 |& B # x| 5 G-TMS




1615 |#& R 2 G-TMS
1616 |(F= BH B G-TMS
1617  |## A 2 G-TMS
1618 |mk ey 5 G-TMS
1604 |[i= N =2) gumed
1605 |%n 1 B gumed
1622 |# I ) gumed
1623 |88 & il % gumed
1624 |#%F: > 3 gumed
98 € H# X =S GUT
99 ® H F X =S GUT
100 W X £ # B GUT
101 X & E = S GUT
102 /8 H* = — B GUT
103 E 8 X & =S GUT
1510 /v M F 9 5 GUT
104 E & Xx B 8 HIROS
105 F & 8\ = 8 HIROS
106 X B & F*E S HIROS
107 - e Ih S HIROS
108 ol — B HIROS
109 + BE S HIROS
110 £ - S HIROS
111 X =~ — S HIROS
1619 |=F F & 2 HIROS
1620 W BE A 5 HIROS
112 I B A L4 ING
113 H B2 B\ ko8 ING
114 |## ST — 8 ING
115 3 | A S ING
116 A t B ING
117 A & B ING
118 = = =3 ING
119 I F q ING
120 £ = B KTR
121 A H = S KTR
122 b & - S KTR
123 iR = B KTR
124 = BA B KTR




125 |f & = BB = KTR
126 |§F W & -— 2 KTR
127 |E R 1’ 2 KTR
128 | A = & = KTR
129 |1 & B A 2 KTR
130 | W #® X 2 KTR
1483 (# 7 I E A 5 =
1484 | I8 F B % =
148 B & #& & B K&
1486 (BT B F & 5% K&
1487 (& B ® #F 5 =
1488 |® M & v 5% =
1589 | H =Z= & 5% K&
1642 (X H & 2 5 K&
1643 1B W £ #H| K&
1644 (B x F # =8 =
131 |H@ # SF 5 L50
132 |E B # = 5 L50
13 |m B F i 5% L50
134 |# B & & 5% L50
13 |18 #F m (= 5 L50
136 %8 A @& &’ 5% L50
137 | B #% 5 5% L50
138 |®m & = I 5 L50
139 | & & 1A 5% L50
140 |®E # A 5% L50
41 |F B M = B LET
142 1= B # 8l = LET
143 |& B & = 2 LET
144 R B 7 & & Loy LET
145 ||@ # F+ F s LET
146 | XK & K = L4 LET
147 |WT # B F ks LET
148 |1 W B & s Jr LET
1358 | i 53 5 LET
1601 |& &® #H # X 5% LET
149 |k B & B 5 M

150 |2 F #*# B S M

151 | #H & R B M




152 |18 3 Bl B M
153 |8 & & B B8 M
154 & & & | =B M
155 |#%& B’ & x B M
156 |& H# & —| =B M
157 |E & B B B M
158 |#f B = 8\ B M
159 | K T # & B M
160 | W # T =S M
161 |&# B #® | B M
162 |BT H #H — £ M
163 1B ® KX —| 2 M
64 | B ¥ 2| =2 M
165 |/ =3 E =8 M
166 |#n H B & =B M
167 |B # H H B M
168 | B ¥®E % U M
1505 |A M #} % M
169 |8 o ®w £ @ Jr MATEI1E
170 |&8 B %k 1t Eoy Jr MAT 815
71 W & & K| 4 Jr MATRIE
172 | & K F %£| ¥ Jr MATRI1S
173 |#& 5 Xl B Jr MATRIE
174 1% # f# X B Jr MAT g%
17 | B B XK B Jr MAT g%
176 |#& = Xl B Jr MATRIE
77 |&8 B # #M 8B Jr MATEI1E
178 &8 B = K| B8 Jr MATRI1S
179 |#& M ®’l = MATRIE
180 I & — # B MAT g%
181 & £ 5l B Jr MATRI1S
182 | K # &k = Eoy Jr MAT g%
183 | B E — B B Jr MATEI1E
184 |8 ®% 2 #H B Jr MATRI1S
185 | B F U B Jr MAT g%
186 |2 & & # B Jr MAT g%
187 |& 1 E 5 Jr MATRIE
18 |B H # v =S MAT g%
189 | B # MW U Jr MATRIS




190 & i) S Jr MATEIHE
191 | B £ Jr MATRI1E
1280 [i& — B MATEIE
1281 |K - 2 Jr MAT g%
1282 (B &= 58 Jr MAT 815
1306 |% x 2 MATHIE
1307 |i& - 2 MAT 815
1308 |& 1 2 MATEIE
1309 |B% & th X F 58 MAT 815
1310 W F 58 MAT 815
1311 |/ L 58 MATEIE
1312 |(F4E 2 2 MATgI1%
1590 |&k iz 2 MAT 815
1591  |# F 4 MATRI1E
1592 |&F i ES 2 MAT 815
1593 |[HT t EX Jr MAT g%
1627 |48 I 2 MAT 815
1628 |& 75 3 MATRI1E
1629 |% X 2 MATEIE
1630 |X Z EX MAT 815
192 # x 2 MAXBT
193 g & 2 MAXBT
194 | = B mio
195 | t# B mio
196 H B 8 mio
197 VN &t 8 mio
198 |H t# B mio
199 | I =2 mio
1462 |¥ 77 2 mio
1463 |Z&E 17 B mio
1464  |Fk 3 2 mio
1573 |4& [ 3 mio
200 fi& b Eoy Jr MITC
201 = & =3 Jr MIJTC
202 = fn L4 Jr MIJTC
203 = X B Jr MJTC
204 = K L4 Jr MIJTC
205 E & B Jr MJTC
206 2 b o4 Jr MIJTC




207 |& 2 g Jr MITC
208 K A = Jr MITC
209 (% 5 s Jr MITC
210 |® = o Jr MITC
211 |;| i) =S Jr MITC
212 (& /3 s Jr MITC
213 |% i g Jr MITC
214 |FE T £ Jr MITC
215 |&H B H F F q Jr MITC
216 |k B £ Jr MITC
217 |1E = s Jr MITC
218 |H B H F X q Jr MITC
219 |&|& D o Jr MITC
220 |iE =] = Jr MITC
221 |iE =] £y Jr MITC
222 |& AR s Jr MITC
223 |®@ E3 s Jr MITC
224 & D s Jr MITC
225 |& EA = Jr MITC
226 |fE ¥+ o Jr MITC
227 |F & s Jr MITC
228 B * S Jr MITC
229 |iI ¥ Eoy Jr MITC
230 |E i) =S Jr MITC
231 (Il @ A R = £y Jr MITC
232 | & o Jr MITC
233 |F& ik L4 Jr MITC
234 & 1E = Jr MITC
235 |E 2} = Jr MITC
236 | B B Jr MITC
2371 |& BB 2 Jr MITC
238 | & X = Jr MITC
239 |Hm 654 o Jr MITC
240 | Rk & £y Jr MITC
241 | K A s Jr MITC
242 i B i ks Jr MITC
243 pol o Jr MITC
244 b2 q Jr MITC
245 #H o4 Jr MITC




246 =3 ko4 Jr MIJTC
247 0 B Jr MJTC
248 &= ko4 Jr MIJTC
249 Al S Jr MJTC
250 bl B Jr MJTC
251 5 2 NAHA
252 YN 2 NAHA
253 & S Jr NMK
254 -1 B Jr NMK
255 =1 =] NMK
256 = =] NMK
257 e} S NoviS
258 i S NoviS
259 B F gog NoviS
260 e H gog NoviS
261 = A S NoviS
262 Im # gog NoviS
263 % F ks NoviS
264 |F BE E =] NoviS
266  |* #7 I 8 NoviS
266 |® x B ks NoviS
1410 |X B @ 5 NoviS
1411 |A FOEK 2 NoviS
1445 g 5 F 2 NoviS
1600 (M B & 3B NoviS
1649 |F BB E Z NoviS
1650 |#% )2\ £4 NoviS
267 = F o4 NSK
268 £ A B NSK
269 it Gl S NSK
1646 |85 o) 2 NST
270 |3k 3 S 0SS
271 U Gl B 0SS
2712 |RK = S 0SS
273 | K i ER B 0SS
274 |& w B 8 0SS
1314 |48 % N 5 0SS
275 X 5 & ko8 OYGD
276 A F B o4 OYGD




217 |E 3B Kk & 2 oYGD
1595 |44 X &= 5% OYGD
1596 |#0 H #H 5 0YGD
218 |t E B &K = Jr R&U
2719 (B # B E 2 Jr R&U
280 |i= B & — = R-FLAG
281 | K M # # 2 R-FLAG
282 (FT EOF A 2 R-FLAG
283 | F HB #£ X 2 R-FLAG
284 E B = & = R-FLAG
285 & R OB OE 2 R-FLAG
286  |F& #t fl =S R-FLAG
287 |F K W M = R-FLAG
288 |f@ F # 2z = R-FLAG
289 |& i 2Ai 2 R-FLAG
290 | B M & 2 R-FLAG
291 (f A #F AR th = R-FLAG
292 (@ # E 1# £y R-FLAG
1594 /v & % 5 R-FLAG
293 | B N E F| X RST
294 IR R & O F Eoy RST
295 R R % B #£| « RST
296 [ & % £ K| U RST
29T | H = F £y RST
298 |lu )\ E F s RST
299 K M = = oy RST
300 1B &5 & X S Jr RST
301 | & ®| F s Jr RST
302 it A F 5 Jr RST
303 (& i3 F = Jr RST
304 (B H # A S Jr RST
306 [/ M H XK 5 Jr RST
306 | F B 5 Jr RST
307 |BH B H R s Jr RST
308 |R #F W | 3 Jr RST
39 | A K B K q Jr RST
310 |48 B K ## 5 Jr RST
311 (/v R B % Tb £y Jr RST
312 (M KX #H @ 2 Jr RST
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346 |K H A = SPD
347 B ®H K & 2 SPD
348 |K H B & 2 SPD
349 |&F H R R 2 SPD
350 |18 R A K oy SPD
351 | B &H < & s SPD
352 |/ E M =X s SPD
353 | M # F £y SPD
34 |15 H F K s SPD
3% | B # @ s SPD
36 (e FEWPHY oy SPD
b7 | EFE D B oy SPD
38 |8 R # & 5 Jr SPD
1508 |& L 5t 5% SPD
1509 |8k B &R & A 5% SPD
1517 | B F R 5% STEP
1518 | & E # 5% STEP
1519 B & 47 = 5% STEP
1520 |BS * 7 5% STEP
1521 | & & — 5% STEP
1522 | K & & = 5 STEP
1523 | B # MR 5 STEP
1524 & # k& Bh 5 STEP
39 |FE Bk E X F £y SUM—-17
360 (R & B ®= £y SUM—-17
61 |= W & & £y SUM—-17
362 |&m ® ¥ F| U SUM-7
363 | W/ H F L4 SUM—-17
364 |/ R B E E s SUM—-17
365 (B #E 8 # 2 SUM=7
366 [&x B M # 2 TJC
67 | B # 2 = TJC
38 | K A E = 2 TJC
369 | H HF — 2 TJC
3710 |F B %k # 2 TIC
3711 |2 g1 = 2 TJC
3i2 | # B i 5 TJC
33 | &A % Kk A B TJC
314 1R B # B 2 TJIC
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413 FOK O OF K o4 Jr TKD
414 A Xk H & L4 Jr TKD
415 1B H B K & X Jr TKD
416 th i 1€ o4 Jr TKD
417 /8 ® % & Eoy Jr TKD
1496 |= £ 77 2 TKD
1497 |12 % M X 5 TKD
1498 (M H & th EX TKD
1499 [ R T H X 2 TKD
1500 (B H H # 2 TKD
1501 | JI M X EX TKD
1502 (K & &R E #| 3 TKD
1503 (# W & 2 | B TKD
418 | H B B q Jr T7 A Jr
419 [ + & & 1E B Jr T7 A Ir
420 /b R OBE ZE X B Jr T74)r
421 |K #1 B &R £ Jr T7 A Jr
422 T % 8 2 1t =3 Jr T7 A4 Jr
423 |I®R B F = q Jr T7 A Jr
424 I  F OB X Jr T74)r
425 |/ K X OF| & Jr T7 A
426 /A - G- o 2 Jr T7 A4 Jr
427 |&® B #E 2 | B Jr T7 A Ir
428 X B x= N q Jr T7 A4 Jr
429 | W #F XK M £ Jr T7 A Jr
430 |HF B % EH| & Jr T7 A Ir
431 |1H H 8 X| B Jr T74)r
432 |1H%: A & X U Jr T7 A4 Jr
433 | XK & B = L4 Jr T7 A Jr
434 |H + & = & £ Jr T7 A Jr
435 R B B H | K Jr T74)r
436 | & B &~ F ko8 Jr T7 A Jr
437 Rl &8 fE X S Jr T7 A4 Jr
438 kK B B B L4 Jr T7 A4 Jr
439 & B Ot =B £ Jr T7 A Jr
440 | W ok #| X Jr T74)r
441 b A B E L4 Jr T7 A4 Jr
442 Wb B XK = B Jr T7 A4 Jr
443 ¥ & B = o4 Jr T7 A4 Jr




444 F OE & B S Jr T7 A4 Jr
445 | E H F q Jr T7 A Jr
446 & N F W o4 Jr T7 A4 Jr
447 & B [E & B Jr T7 A4 Jr
448 IE BH X =& B Jr T7 A4 Jr
449 g B # ¥ £ Jr T7 A Jr
450 /A S ) S Jr T7 A4 Jr
451 B K E & ¥ L4 Jr T7 A4 Jr
452 F Ok O m S Jr T7 A4 Jr
453 I % Tt L4 Jr T7 A4 Jr
454 X H B KX B Jr T7 A4 Jr
455 |& | K F q Jr T7 A Jr
456  |& IR = =] Jr T7 A4 Jr
457 VA~ L4 Jr T7 A4 Jr
458 A W & B L4 Jr T7 A4 Jr
459 |E R & X B Jr T7 A Jr
460 kR B B M L4 Jr T7 A4 Jr
461 |FHF: XK ¥ IE B Jr T7 A4 Jr
462 7 HBH & A S Jr T7 A4 Jr
463 ¥ 2] ® L4 Jr T7 A4 Jr
464 | B ®W &F U Jr T7 A
465 |/ BB B | X Jr T7 A
466 |F W % W U Jr T7 A4 Jr
467 |BT R E B | X Jr T7 A Ir
468 T ik & K & T Jr T7 A4 Jr
469 | 22} iz =] Jr T7 A4 Jr
1377 v B OH * S Jr T7 A4 Jr
470 |8 H# & EH| 2 THE
4711 & % B F| B THE
472 /o EER R Eoy THf
473 | B B B/ U THE
474 IIh 8 B AR & K THE
475 |1 WL M F| K TH
1315 |i& & 58h 47 5 T-32)11
1316 (8k & B — 2 T-32)1
476 X FE 1 & =] UNTRACE
477 M Bk iE S UNTRACE
478 7 XK & B UNTRACE
479 n 85 X £ S UNTRACE




480 |E = B =S UNTRACE
481 | H % & £ UNTRACE
482 |= VY K B =S UNTRACE
483 |#% X G =S UNTRACE
484 |k = * o UNTRACE
485 |H # ] o UNTRACE
1621 | Lt #$# KX 5 UNTRACE
486 | H & & £ VAMOS
487 | K EF ™M s =S VAMOS
488 (] ® B — =S VAMOS
489 |1 E & & =S VAMOS
490 |BH ® M IE % VAMOS
491 £ 532K+ S VAMOS
492 /v W K # =S VAMOS
493 | W ' =S VAMOS
494 |K #F & 3 =S VAMOS
495 [/ B E 6 #2 =S VAMOS
496 |K F B B 3 =S Jr VAMOS
497 | & 4 1D Eoy Jr VAMOS
498 & #H & B o Jr VAMOS
13718 1@ # & % =S Jr VAMOS
499 [# R & F ko8 WTA
500 |58 & B F o WTA
501 (¥ B M & ko8 WTA
502 |1E & A Y F ko8 WTA
503 (B8 W A U kg WTA
504 (B &2 H & F ko8 WTA
506 |2 % 4 H =S WTA
506 (¥ BHF & = =S WTA
507 | H# R M S WTA
508 & R X #F =S WTA
509 (¥ M #m R =S WTA
1572 (iv F X K £ WTA
510 (&8 B B m =S Yips
511 E A M 0t =3 Yips
512 | X % B Tt =S Yips
513 |#5 YN e =S Yips
514 |& # = =S Yips
515 ¥ = BH ES] Yips




1586 | H B E 5 Yips
1631 |B &K 1% 5 Yips
516 (& NI A *A = YSTC
517 |& NI B # £y YSTC
518 & B U & # s YSTC
519 | B — # 5 YSTC
520 |& B B KX EB| 3B YSTC
521 M N % 2 YSTC
522 |1 & #H — Bl B YSTC
523 (Wb B & — 2 YSTC
524 |& R o 2 YSTC
526 /M M ¥ B 5 YSTC
526 |[A R ¥ F| U YSTC
5271 |1 # F & 2 YSTC
528 |1E ¥ & ©4 2 YSTC
529 |& W E #| ¥ YSTC
530 |W #E M F £y YSTC
531 | IR &F #| U YSTC
532 |t M F F s YSTC
533 (K 1§ X F £y YSTC
534 |#lE & = F £y YSTC
53 & H B, F s YSTC
536 | X % #£ F oy YSTC
537 |H #® X F ks YSTC
1495 |Ff H B £ 5% YSTC
1579 |f# AE 33 =8 YSTC
538 |II & # X 5 HHETC
539 |& # = 2 HHETC
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